AGR 15-4217 GM Emulsion, LLC Vendor Number 26708 On-Call Construction Services

Date Prepared: 2/24/2017

Task Order No.:

Project Title: LASS Site Improvements

Job Cost # or Work Order #: 852-56850

Project Manager Assigned: Patricio Guerrerortiz, PE

Phone: 505 663 1907

Contract Manager: Bryan Aragon, PE

Department: Public Utilities

Vendor Contact: GM Emulsion, LLC

Location of Work: NM 501 north of LANL 271

Scope of Work including Estimated Quantities: Approximately 2700 CY of backfill processed to 95% Proctor density, using County-supplied aggregate, including transport form location on East Road (adjacent to airport runway; removal and replacement of approximately 520' of 6-foot high chain-link fence; installation of approximately 55' of new chain-link fence; structural fill and new 12' wide, 6' high chain-link gate; 22'x66'x12" reinforced concrete slab; clearing and brushing; removal of approximately 12 trees and bushes; compliance testing.

Start Work Date: 3/27/2017

Attachments: Contractor's Price Proposal

Estimated Total Cost: (not to exceed amount): \$91,339.00 + NMGRT

Estimated value of all task orders to date including this task order:

Current contract value: \$2,000,000

Final payment shall be based on actual field measured quantities.

AGR 15-4217 GM Emulsion, LLC Vendor Number 26708 On-Call Construction Services

Current Contract Value	\$	2,000,000	Plus GRT
Estimated Value of all task orders to date, including this task order:	\$	676,151.25	Plus GRT
Remaining Contract Value:	\$	1,323,848.75	Plus GRT
	1		

SI	GI	A	TL	JRE	PA	GE
----	----	---	----	-----	----	----

Original Task Order

Bryan Aragon, PE	Date	Gabriel Martinez	Date
Contract Manager / Senior	Engineer	GM Emulsion	

Patricio Guerrerortiz Date
Utilities Senior Engineer/Project Manager

Timothy A. Glasco, PE Date Utilities Manager

Task Order Revision (as applicable)

Timothy A. Glasco, PE Date Utilities Manager

GM Emulsion LLC

5935 Agua Fria St. Santa Fe, NM 87507 505-471-9981 office@gmemulsion.com

Estimate

Project

Date	Estimate #
2/14/2017	1618

Los Alamos County 101 Camino Entrada , Bldg 1 Los Alamos, NM 87544

				1 10,000
Description	Qty	U/M	Rate	Total
ELECTRICAL SWITCH GEAR STATION PAD				
LOS ALAMOS COUNTY ON CALL 2015				0
project consists of 3000 cy of fill material supplied by LAC.				
(hauled by GME 3 miles to location and processed and				
compacted).				
550 sy @ 12" compacted base course for pad				
12" class A concrete slab 60 cy				
remove and replace 6' chain link fence				
install new 6' chain link fence		\		
install new 12' wide by 6' chain link gate				
no trenching, conduit, or backfill will be supplied by GME				
621000 Mobilization one way from home office per mile	45	ea	45.00	2,025.00T
201000 clearing and grubbing	1		9,950.00	9,950.00T
including tree removal 13 trees @ \$650.00 each	1.3		,	
206100 select backfill material per cy	3,000		6.00	18,000.00T
minus \$4.00 for material costs due LAC supplied fill	,			,
207010 sub grade prep 301 to 600 sy	550		3.00	1,650.00T
304110 untreated base course 6"	1,100		14.00	15,400.00T
2 layers of 550 sy	,			
601000 removal of structures and obstructions	1		11,314.00	11,314.00T
518' removal and replacement of existing 6' chain link @			, , , , , , , , , , , , , , , , , , ,	,
\$18.00 = \$9324.00				
55' new 6' chain link @ \$18.00 per ft = \$990.00				
1 12' x 6' gate @ \$1000.00				
Total \$11314.00				
511000 structural concrete class A 12"	60		550.00	33,000.00T
60 cy	17			
Price includes density testing on concrete pad, and concrete	1			
test	0 (
Thank you for the opportunity.	7,600			

Subtotal

Sales Tax (7.3125%)

Total

GM Emulsion LLC

5935 Agua Fria St. Santa Fe, NM 87507 505-471-9981 office@gmemulsion.com

Estimate

Date	Estimate #		
2/14/2017	1618		

Los Alamos County 101 Camino Entrada, Bldg 1 Los Alamos, NM 87544				
				Project
		,		
Description	Qty	U/I	M Rate	Total
Does not include traffic control, swipp, permits, or trenching				
Thank you for the opportunity.			Subtotal	\$91,339.00
			Sales Tax (7.31	1 25%) \$6,679.16
			Total	\$98,018.16